= o
N & 0l & AF & E A A
2020 & =0l & LBHSIH =T A A
SN 2T AYA
Hu: ol DI (YEETAN/BALS)
Sl Ol2 A4E Ala2 CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
=T AR A 27,817,872 29,816,781 21,998,909
= 4,904,100
s 1,870,000
< 1,837,800
s 19,205,972
2 S (Mol /83EES) 4,772,697 4,228,007 544,690
= 54,100
< 1,235,000
i 3,483,597
0t &% Ald 2] 4,241,088 3,700,840 540,248
< 1,235,000
[ia 3,006,088
OIS KA 1,553,632 2,093,000 A 539,368
201 et 279,092 210,300 68,792
02 =224l 279,092 210,300 68,792
OALRE 2ZTAE 2PAN 242
730,000 2964 A& 216,080
ORXdt=s F=FX &IlE 1,500,000 154 & 22,500
Olts&x=E Sgael SHes
6,000& x12& 29604 & 21,312
OA& &l Xl 19,200
0 A2 E A4 SHILEAAE X2
1,600,000& »12& 19,200
206 M= Hl 4,500 7,200 A2,700
01 = bl 4,500 7,200 A2,700
Oltsddsr ASUE 9,000& 5004 4,500
207 A RO 15,000 229,500 A 214,500
01 A2 ESHI 15,000 228,000 A 213,000
OLRBAEAE 9 - 28 MET S
15,000, 000& * 14 15,000
401 AIEBIZ 201 8I 1,255,040 1,646,000 2390, 960
01 A& Bl 1,250,000 1,641,305 A 391,305
H=2 BSANE(d=H) =
8,000,000 =34 2~ 24,000
OARE 2CAE | L BEH(BZ 22,4
S0 WM & =& S) 8,000,000 *1000 2 800,000
OXlota IEZAH(14H L)
5,000,000 =144 & 70,000
OXiots AtZ 22l (3501 4)
4,000,000 *35J4 & 140,000
OLARHTAE SEHJANLE AXAS (2
A2+ AIE 360Ha) 216,000,000 216,000
03 Al 20 HI 5,040 4,695 345
OARExEAE RA & EAY AIER0UHI
800,000,000& *0.63% 5,040
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S MG A
28 SIS (Yotx=E/B8FES)
g & A2t

(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
A2=CAE HSAI (X&) 2,366,000 1,286,000 1,080,000
< 1,183,000
s 1,183,000
401 Al HI K 201 I 2,366,000 1,286,000 1,080,000
< 1,183,000
s 1,183,000
01 A& Bl 2,357,482 1,281,370 1,076,112
OARR 2T AIM NS (HE)
2,357,482,000& 2,357,482
< 1,183,000
s 1,174,482
03 Al 2 THHI 8,518 4,630 3,888
O2R2 =T A& HEAY AIE20bI
2,366,000,000& *0.36% 8,518
sk S A2 321,456 321,840 A 384
< 52,000
s 269,456
307 gl2tol & 321,456 321,840 A 384
< 52,000
[ia 269,456
05 BIZHRIE 3 321,456 321,840 A 384
OllEa+T £ SAstz?
90,5003 29600 A=« 128 321,456
< 52,000
s 269,456
ot ANE &5 181,609 177,167 4,442
= 54,100
s 127,509
=& 85379 FUXF MY 181,609 177,167 4,442
= 54,100
s 127,509
401 AIEHI L 20HYI 181,609 177,167 4,442
= 54,100
[ia 127,509
01 A& Hl 180,333 175,891 4,442
O442 257 FAUX VAL
180,333, 000& 180,333
= 54,100
s 126,233
03 Al 2 THHI 1,276 1,276 0
Ott4d 257 FUNAAY A&
177,167,000& *0.72% 1,276
LRotrE EAY 350,000 350,000 0
SH Lol EsAY 350,000 350,000 0
401 AIEHI L 2 CHYI 350,000 350,000 0
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 A& HI 347,480 347,480 0
OH o S22 A4 RAESAY
347,480,000 347,480
03 AlE 2 THHI 2,520 2,520 0
OY &2 S22 A SAEALY AME2H
=l 350,000,000& *0.72% 2,520
BAI=ANE 29 4,059,000 3,509,000 550,000
SHII=ANE 23 4,059,000 3,509,000 550,000
BZIIZANE 29 4,059,000 3,509,000 550,000
201 Let24d] 759,000 959,000 A200,000
02 =24l 759,000 959,000 200,000
OZII=ANE 28 AMEZH S
200,000,000 200,000
OEII=ANE 29 HIlz 550,000,000& 550,000
OMSEE=Z AL & U5 (A HH =)
9,000,000& 9,000
307 glz2tol & 3,300,000 2,550,000 750,000
05 RIZHRI & 3 3,300,000 2,550,000 750,000
OBEIZANM 29 223
3,000,000, 000& 3,000,000
OZJ=ANE 2 sHX HMel
300,000,000 300,000
AL (Aot ALY A-2 ) 7,400 7,400 0
JlE2dui(Les ) 7,400 7,400 0
Jl22Z34 7,400 7,400 0
201 2et24d] 7,400 7,400 0
02 232gHl 7,400 7,400 0
Oz22= & HMA 3,400
o Xt B2z Y NSIHAl 1,000,000& 1,000
o ZEZA IR EHI 1,200,000& 28 2,400
O X+l 4,000
o AERA 2l 4,000,000& 4,000
HWees (A4S IHdSE3H) 18,978,775 22,072,374 A3,093,599
= 4,850,000
s 1,870,000
< 602,800
s 11,655,975
LHEHH XK= 18,978,775 22,072,374 23,093,599
= 4,850,000
s 1,870,000
< 602,800
[ia 11,655,975




SA SETARA
HE: HRHS(4ETBIASHH)
S WEAHAHX = (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
aEZIHEESH N=dE2 3,818,640 3,818,640 0
701 JIEtSI HSHES 3,818,640 3,818,640 0
03 BIIHELEIIHN=2HES 3,818,640 3,818,640 0
O+ 3INEELE3H H=ads
3,818,640,000& 3,818,640
SEBILELSH 2EHES 1,870,000 2,810,000 940,000
s 1,870,000
701 JIEtSI HEEES 1,870,000 2,810,000 940,000
s 1,870,000
03 BIILELEIHN=2HES 1,870,000 2,810,000 940,000
ONEZ &5 &2 JUIA(SUsS) 25
dE3 1,870,000, 000& 1,870,000
s 1,870,000
St==ZIIESE3H 8&3 7,837,335 8,166,734 A 329,399
701 JIEtSI HEHES 7,837,335 8,166,734 A 329,399
03 BIILELEIIAHNENES 7,837,335 8,166,734 A 329,399
Odt+=BINESELE3H H=dE
7,837,335,000& 7,837,335
ST 3IIEELESIAH =25H &3 5,452,800 7,277,000 A 1,824,200
= 4,850,000
< 602,800
701 JIEtSI HEXTES 5,452,800 7,277,000 A 1,824,200
= 4,850,000
< 602,800
03 BILELIANAN=2EES 5,452,800 7,277,000 A 1,824,200
O=218xz 8 4,850,000,000& 4,850,000
= 4,850,000
OZHE=x=3 &= 602,800,000& 602,800
< 602,800




